sin(—x) = —sin(x) cos(—x) = cos(x)
4 [sin(z)] = cos(z) L lcos(x)] = —sin(x)

cos(x) = %

sin(x) = 5.0

cos?(x) + sin?(z) = 1

sin(z) < @

For small @, sin(z) ~ z

sin(a + b) = sin(a)cos(b) + cos(a)sin(b)
cos(a + b) = cos(a)cos(b) — sin(a)sin(b)

limyp, o2 = 1

. cos(h)—1 . cos(h)—1
lzmh—>0 (h) — l’&mh_>0 (h)




Let f(x) = cos(x).

Then f'(z) =

Similarly L [sin(z)] = cos(x)

Find equation of tangent line to y = sin(x) at z =0



Chain rule: |f(g(x))]" = f'(g9(x)) - g'(x)

dz __ dz dy
dr  dy dx

. A . Az A
lzmAw—A)A_i — lzmAx—i)A_;A—g

Examples:

[cos(e® + 5x?)] =

(3 [sin(z?)][cos(z™! + 5]) =

{ sin(x_l)}’ .

2
[esin(em T3
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